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LOGIC AND PHILOSO?HY
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for the questions.

0. No. 1 carries 1 mark €ach.....covcuvevevrveennns 1x12=12
Q. Nos. 2-13 aarny 2 marks eoeh . coremminnin 2><12'—"24
Q. Nos. 14 -23 carry 4 marks each ............... 4x10=40
Q. Nos. 24 -27 carry 6 marks @R .....oisissess 6x4=24
Total=100
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- x12=12
1. Give very short answers : (any twelve) ]

ofe 5 T fmal ¢ (Rizerean a19619)
s wefrd T wie ¢ (@-@al AEba)
Siee 9e' fhem | ¢ (sraiasrar qieT)

(@) What is the ideal of Logic-?
e S 2
SSRGS 9
Sferd fafmmf o den @2

(b) / ‘The conclusion of unscientific induction is certain’ — Is it

true ?

SRGEHS S e Afkee” — 306! 79y (+ 2
‘SIGIE SN e [k’ — b & Afep 2

efiramit = fe Seer faxiar foraama @’ — S9 g 172

(c) Does Analogy .depend on the Law of Causation ?
APIEE SAIH FEFRe [t ermo 789 T @ e
A S FReRe [t Som fren w e
HEqsN SRR @i FrRe |A 12
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(d}~ "The ground of Induction is the result of induction’ — Who
made this statement ?

e fSReTE Wi T — AR @ i ¢
TN e W T — @3 O @ wEitEm e
‘e fouE qeeeEt frur' — o g 9r SRR ?

(e) Are non-voluntary actions regarded as objects of moral
judgement ?

wAzs fEamEs (fos [l Rewee ot 9gd 1 @ @ ¢
StAfieE R & Ao Roies R e oz = 20

T M S A EEThRE e Wk R Aefaeita
WARAE & A 2

(/) Name the theory which states that the external world can be
directly known. ‘

g Gofedd dOrFOiE SR o[ T e e T MeAMCBR N i |

NfETF TIST ATTFOIR TS A AW I PR oMb [T @i

T T s e T S T R T f
‘V‘Electricity is a fluid’ — What type of hypothevsis is this?

Rre areror @ smil — G2l (ERLREE o4Fe ?

‘e @ oz@ smidl — @it I @R dTH 2

‘Hifscrren ey Ee@ gar' — S W T W A ?
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(h) What, according to Indian Philosophy, is the Supreme and

Ultimate end of human life ?
TSI WA SR WAE Glaed S o7 4l e e
@aﬁﬂwﬁwﬁﬂmﬁmmwalwzﬁ?
IR wredl =il g9 oefi sifem o sieen gifgsrar @12
} ‘F;rimary qualities are the necessary properties of an object’ —
Is it true ?
7 @W IET S g5 — FUAE 9y (72
‘NAf5 e o9 G0 T ARG @Ry — AT T Teye
‘g TR dERH THIYR URE T — 1y 9R A2

i)/’ What does the external aspect of Religion refer to?
gRmf arEsieni feen = wREm ?

(k) ‘Ethics is a positive science’ — IS it e ?
Tifexirz fagfiv Rew — FIRE 79 @7
Ao Gt Rew — saf f rors
o Fafrn FRTER AT — T o
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() On which canon of elimination is the Method of Agreement

established ?
QPRR (IO a0 gl siafe afefis ¢
IR (I @b Soita wEdl siwfe efefre

@Wﬁnﬁ@ﬁwﬁwaiﬂﬂmﬂwaﬂwmﬁf?

What is the third stage of hypothesis ?
AFHT PO B! (2
ARt oty grEen =7

(nf* Does the Method of Difference yield a certain conclusion ?
GferEd srates el 9o Wive Praig e (e
FfoEs! smfer gt & ot Rikse Fraw ome

GRIY STEEH TeEAR g erareae ki - =17

2[ What do you mean by ‘Induction proper’? . 2
‘e e’ e & e g
‘TS T IS F @I 2

‘GeEETE ARSI FEE A e 2
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or/ Fzx | w4l | TS

Why is the conclusion of Scientific Induction certain ?
el SR e [y [ies

REElEE SoNeR s (@ [iFe?

"ot smesnenafy’ e o1 i e ?

3./ Give an example of Plurality of Causes’.
[ TR @b Swizad Tz |
TN TG G Twizged S |
T i SR A T )
Or [ Z | @2Ar [ Tar
Give an example of positive condition.
T Toradd @t Swisel vl |
M BATACR GO Tl 7S |
drerl sy W faffe B

4. Mention any two characteristics of experiment. .
s Bcofofcii ANl
AIFR - 76 @HE Gl
SIS A Srafesen A e for |
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\S/Give a concrete example of the Method of Residues. 2

HROTE omfes 961 iwa Swigae Wl |
SRNEI Ao G AW SHiERe W |

] AT 3TesE HHY Aiereiit fafefe 8

6. Why is the Idealism of Leibnitz called Pluralistic Idealism ? 2
AR SRAME [T IR SRR IF (IR W
FRAT-19 SRAMCE 29| OR[AM (F J&7 22
et e el T e AR YA G S ST ?

 or/ R @ [ GET |

Write any two characteristics of Objective Idealism.
FGIe ORRAMI RIceic) 761 (@riey il |
TENe ORI (I-(PIeAl 76 @G T |

TR ST et STafESE He g R

Mhat do you mean by ‘moral ol;ligation’? .
‘e Aok’ e & gaie -
TR ALY TE0T T (I 2
‘SEe WIS HELH T g | i ?
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or / wizal | el | T
What is Voluntary action ?
afves foFal I @MEe
aftre oo It e

Mg TG Sl JETE T gl e ?

8./ Write two characteristics of Naive Realism.
e WA 70 (@Reg e |

e AFRICR 7o (@ R |

TRel A w39 e fer |

9. Mention any two conditions of a valid hypothesis.
(4 oo RICPIca) 761 5% Trme T4 |
G0 (JY AFER (F-(FI 7o =% Trmd @) |
Sfed Al §F AFeita SefeeE 8mY gder 1@’

10. Who is regarded as the Father of Modern Philosophy ? What is his
famous saying? — 1+1=2-

sy AT Prewsel gf T wfelze T 2 (999 Rure Sfem e

i T Prowms am i Sfefes 0 zae 97 [ae Sl e

ﬁaqgﬁﬁiﬂﬁﬁﬁfﬁmW%téﬁm?ﬁwiﬂmamaemh?ﬁﬁiga@TgﬁmmTqﬁ
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11. What is Secondary Quality ? Give an example. 141=2
e @e HF (RIGE . GO SwigEe |
(T @ R 2 G Trizad e |

TR T TrE @ 2 9 fafefa 812

12/ Define Hypothesis. 2

O
ses e | o8 U\ o
F(HI TG WG | \t

T AR gEg B |
Or [ 724! [ @< [ Tar
Give an example of Hypothesis concerning collection. ;.
oAfaeifes wfEfe ToFn eees aft Trizsd |
AR 73S TP dFER G0 SaiAd TS |
TR AT g we Aeeir Jme fafeter €

\1?/Give a concrete example of Method of Agreement and Difference.
: 2

firl sEA-IToES] oEfes At aIwa Swigad |
WWWWQﬁWWQWGI
e SR I ety 9FE AmaraR fafefer g

79 / LOPH [9] Contd.



14. Write any four characteristics of Analogy.
AT SRS Riepiear 51901 taf<iey el |
AT Wma (- BIf5 Cafig) (@l |
qéraﬁ SfEsTn 9s g fer

. Or/ RS/ @At TET

" Define Bad Analogy W‘ith'an example. 2+254

<51 TrrREepTE AT kel
G THIRIPTR T AICR T 7S |
A fafefosi M T g5 8|

15. Distinguish between ‘Hypothesis concerning agent’ and ‘Hypothesis

concerning law’. ' 4

ﬁwﬁﬂm’W‘mwﬁﬂmzmeﬁﬁw|
‘SfSAfd TR oFs R TN T 2E’a Wy Aidey [l et
o BRI O HGi S ST W T Heiff ee B fSEA |

16. Write a short note on Non-moral action. 4
oo ferae eoe |t 5 (I ol
e TR TAw @l AR Bl @Al
Ee g e gEit gEE g1 é@ﬁﬁ: fer |
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Or [ /23l [ &<l | uar
Is Ethics a practical science ? Explain briefly. 4
SfeRER A [wm 20 @0 b3is i 4 |
TfeRer & awifie Reeme sewst e w@l
S Faffr e fafm 2 ged e

17._State four characteristics of observation. \\)\ -4
TR BIfE! @ S 4 |
R 1Rfe (e SrEd TR |
SR A O g w9

18. ‘Esse est percipi’ — Explain briefly the statement. 4
ey oors FeT — FARR HCE T 0|
wfiee ererw-Ror — SR wTwe It T |

‘i e SR WREE WHRAE — S we g1 ol |

19. Write any four definitions of Religion. ,
fa Rl BIRT cest fora |

qsla (- BIFfe ALEl @Al |
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Or / #2490 | wigal | Tar

‘Morality is the source of religion’ — Discuss this view. &
‘feweir i T — @2 WSl witEisl 34 |
AR 45 B — B Wb SElsal a6l |
"SI e ERMEA BEn’ — § sl 9 |
i 4

20/ Write any four characteristics of Scientific Realism.

WEiNE ATRMI Rl 51967 (e &l
RS AT[NTE (T~ D176 (AR (=T |
FafirerR s wfafy SrfesTEn 2es sTgeE o

21. State two advantages and two disadvantages of Method of
Agreement. 24+2=4

T~ T5 SR I w1 o S <
s omhod i R @R 1o SERyl S R
e aneafT A @i T d s W
Or [ AZ=1 | @2l [ qar
What is ‘practical imperfection’ of the Method of Agreement? 4
Fd AEfed FRARS Sojfer e
S| aied IRRRE Gsjefor F1?
rieen sneafy ‘e amefy AT W2
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22. How does Hegel describe the nature of the Absolute ? 4
@A SEAGE Fae [ il Ffarg
(o7 ATTAER FE@A S ISE AN ST ¢

\%ﬁ/hat is ‘Moksa’, according to Indian Philosophy ? What are the
three paths to attain ‘Moksa’? ‘ 2+2=4

TR WA TEEE] G e (R A’ foel A 3 el & e

TECE T SERIE] IR 12 E A0S foAs o2 31 el 1 12
TR BrEl Ay Hel'S W2 "Y' AEAAEe BFe e /o 2
Or [ %41 | @94 [ TaT
Explain the concept of ‘Artha’ as Purusartha. 4
s&ald fZprel welq el il 4 |
s e ad-a@ gl i ?@N

gear fewma e era@ g4 |

24. Define Scientific Induction and state its characterist.ics. 1+5=6
e e Aol T o 209 @EETE Smd 34 | |
‘@@ﬁ?r G A e 3R 99 @HEEPTR Srad R |
fafframife. <remeensty 9Fg & 0 9f SrgaEhRe 7E’ |
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25.

Or [/ 27 | weql [ Tar

What do you mean by Inductive Inference ? State the differences

between Inductive inference and Deductive inference. 1+5=6

TSI SR I 6 e 2 Siore S i i SRR (e AR
TR T4 |

wwwwﬁﬁmpwmwm\ﬁmmﬂw
ﬂ@m@mﬂwn . '
Wmmﬁwm%ﬁ?mamagwmqwmmﬁﬁﬁtﬁ
FRATHRE! 7G|

Define cause. Write the qualitative and quantitative marks of

cause. 1+5=6
TR @] il | PR @epre S SRS R B
IR TG MG | PR @eiole G ARG dTFeiafer (e
STErfT Sy @ | ST T S sty fa sTgwRat fo
Or / 721 [ @24t [ gar
Discuss the fallacies of observation. 6

AR (MIPTR S 41 |
YT (RPTE. S A |
ISR B TRferarE e |
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26. Explain the nature of Hypothesis with suitable examples. 6

THTE THIREOR RS FHS Ao I 41 |

CogE THIZAER AR AFCH Plo iy el |

%wﬁﬁfwﬁmwﬁﬂﬁuﬁmw@@m
or / A% | WAt | T

What, according to Stebbing, are the different kinds of Hypothesis ?
Discuss. . 6

(BReI o gosk [fen goRER & &2 e =
@Rrea o deer [Rfon wmefd 1 F1 S @ |

ey aifs TH-TRITAE TEA-TET JGHE W W ? HeRE |

27. Explain the Method of Difference with concrete example. 6
a1 TEePTE TR AT I AR
e THIZAPTR TSRS AafS I S |
el fafefesi Rty seaf seeE 7|
| Or / 7= | @24t [ war

Write a note on the Method of Con-comitant variation. 6
Te-H{fRaEn diimi eoFe 9 (GRF fora |
Teo{fFRET e R T Sl oAl
At ey e W@ A
x
[15] Contd.
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